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; s 4 " S 7 EFER
= L o s ppm | mg/m’
l. |2 p% CHsCHO 100(180
2. |BEpk CHsCOOH 10{25
3. |t papF (CH3C0)20 5|21
4. |p fr (CH3)2CO 75011, 780
5. | % CHsCN 40(67
6. |widite A(1,1,2,2—w 8.2 %) |CHBr:CHBr 114
1. |p#FpE CH,=CHCHO 0.1]0. 23
8. | = CH;=CHCONH 0.03
9. |ppps CH,=CHCOOH 10|30
10. | B CH,=CHCH:0H 2|4. 8
11. |% P CH,=CHCH,C1 1{3
12. |p %% A& k4 @ B H;C=CHCH20CH.CHCH;0 0|23
13, |2—Am=rter_ CsHsNNH: 0.5/1.9
14. | NH; 20(35
15, |# i“4% (B'E) NH,Cl 10
16. |z g ~fg CH3COO0CsH;, 100[532
17. |z pa % = N g CH;COOCH(CHs ) (CHz)2CHs 125|665
18. | ’= CH5NHe 2|7.6
19. |7 §F 3= (> HEHPF CH30CeHNH; 0.1]0.5
20, 862 B L &4 (U4h3t) Sb 0.5
21, [ X (a— % Fk) C1oH;NHCSNH, 0.3
22. |7 WAL & (uRt) As 0.5
23. |F i@ AsHs 0.05/0.16
24. | B> C1oH12N305PS; 0.2
25, |2 H¥apit &4 (403) Ba 0.5
26. 3@3? * fie (CeH4C0)20, 5
27, |# 97 X ¥ Cel5CH2C1 115.2
28. | F CeHsCeHs 0.2(1.3
29. |= A BBrs3 110
30. |= & i+ BFs 12. 8
31. |5 Br, 0. 1]0. 66
32. |1 & 15 BrFs 0. 1]0. 72
33. |Z 57 = CHBrs 0.5[5. 2
34. |7 = CH3CH2CH,CH3 800(1, 900
39. (1—7 & pg C4HoSH 0.5]1.8
36. [1—7 p% CHs(CH,)30H 100(303
37. T e CHsCHOHCH.CHs 150(454
38. |z A 7 fig CHsCOOC4Hy 150(712
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39. | Ba% = 7 fig CHsCOOCH(CHs ) (CeHs) 200(950
40. |z pa% = 7 fiq CH;COOC(CHs)s 200[950
41. |% = 7 f% (CHa)3COH 100|303
42, |7 = C4HoNHz 5|15
43. | 7 &5k H 8 CHs(CHz)30CH2CHCH20 25133
44, |5 T fg CHsCHOHCOOC4Hs 0|30
45, |#—% = 7 B CHsCH2CH(CHs)CeH4OH 5131

46, |H—% =" A" ¥ (CHs)3CCsH4CHs 10|61

47, |# ﬁ’;ﬂ Caz(As04);

48. |§ "=i 4T CaNCN 0.5
49. |3 § i“ 48 Ca(OH): 5

50. |3 it 4F Ca0 5

5l. |& =+ CioH;60 2112
52. & P e =( B) CH2(CH,)4NHCO 1

53. |® P Er=(E4) CHz2(CHz)4NHCO 0|23
54. |*v %4 C10H-00CNHCH3 5

59, |*v ek C12H15NOs 0.1
56. |Fk 2 C 3.0
57. |= % CO, 9, 000(9, 000
08. |Z it B CSe 10|31

59. |- % B CO 35(40
60. |3 ¥ i- 4 CsOH 2

61. |&# = CioHsClsg 0.5
62. i % - F Ci2H4sC160 0.5
63. % Cly 0.5[1.5
64. |- % i* % C10; 0.10. 28
65. [= & i % C1Fs 0.1]0. 38
66. |- &% ¢ ¥ C1CH.CHO (3.2
67. la—FF ¢ (0—FF M) CeHsCOCH:C1 0. 05]0. 32
68. |% ¢ fiex CH,C1COC1 0. 050. 23
69. [# ¥ CeHsC1 15(345
70, |% 7 = BrCH;C1 200(1, 060
7. 2—% —1,3—" = % H,C=CCLCH=CH, 10|36

2. |# = & 7= CHCIF, 1, 0003, 540
73. |&% ¢ = CHsCH.C1 1, 0002, 640
T4, 12— % ¢ % C1CH2CH0H 1{3. 3
., |= % 7 @ C1CH,0CH:C1 0.001(0. 0047
76, 1—1—1—®Ap = CsHsC1NO. 2|10
7. |%# 1 & = CCIF.CF3 1, 000(6, 320
8. | it= (Za2/7 %) CCI3NO, 0. 1]0. 67
79. [#—% F ¢ %5 C1CsH4CH=CH> 50283
80. |#—% 7 F C1CsH4CH3 50(259
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8. |42 & (g3) Cr |
82. |= Wit & (114t Cr 0.5
83. |= Wit & (11483) Cr 0.5
84. |H B RFIEFE S 0.2
85. |4e > &R E B A (&) Co/Co0/Co302/Co204 0.05
86. | & Upikird 0.15
87. |8F > BL Cu/Cuz0/Cu0 0.2
88. |4F > B A-ArFiF (Vi4k3H) CuS04. 5H:0/CuCl 1
89. |# A 0.2
90. | 2p% CHsCH=CHCHO 2|5.7
91. B 7/ ¥ CeHsCH(CHs )2 00(246
92. |7 B~ (& 3973 2 #H4) CHsCeH4OH 522
93. 1§ "= (§ &%) HNCN 2
94. |§ v (1 $3H) CN- 5
95. [Fk e = Coll11NH 1041
96. [H&: = CeHiz 30011, 030
97. |3k ° P& Cel1:0H 50206
98. [ fF CsH10CO 25(100
99. [I,3—F% - % Cslls 75(203
100. % ~ = CsHio 600(1, 720
101.2,4—3% (2,4—=- % ¥3 ¢ k) C12CsHs0CH.COOH 10
102, |+ F2iz BioH14 0.05/0. 25
103. [i= &5 CsH1905PSe 0.01/0. 11
104.|= 1 Bk f% (CHs)2C(OH)CH,COCH; 50238
105. = 4~ [ (CH3)2CHCN2H(CH3)O JPSC(OCHs ) 0.01
106.|£ F 7 = CHoNg 0. 2]0. 34
107, |= /i BoHls 0.1]0.11
108. |papz = 7 fig (C4H50)2POOH 1/8. 6
109.[#8F = " = ~ fig CsHs(COOCsHy)2 5
110.]= # 2 % CoCle 0.1{0. 39
111 |#—= % F CsHaClo 50(301
2. %—= % F CsHsClo 75450
113.|= % = 4 7 ’= CCloF; 1, 0004, 950
114.{1,3—= % —5,5—= 7 k¢ p Ag”h |CsHsC1aN20s 0.2
115.|1,1—= # ¢ = CHsCHC1, 100[405
116./1,2—= % ¢ % CICH=CHC1 200(793
117.|= % ¢ @& (C1CH2CHz)20 5|29
118.|= # & 7 = CHCI1.F 10(42
119.(1,1—= & —1—m' e’z HsCC(C1 )2NO: 2|12
120.]1,2—= 2 p = CHsCHC1CH.C1 715|347
121.]1,3—= 2 p % CHC1CHCH:CI 114. 5
122.12,2—= % 5 p& CHsCC1,COOH 15. 8
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123. | —w 4 - F ¢ 'z CC1F2CCiFy 1, 000(6, 990
124. |+ + (CH30)2P(0)0C(CHs)=CHC(O)N(CHs)2 0.25
125.|= B~ = %% Crolli2 5|27
126.|= ¢ pgi% (HOCH2CHz)2NH 3|13
127.|= & = (CaHs)oNH 10{30
128.2-= & sejl e % (CaHs):NCH,CH20H 10(48
129.|= &tz A== NH2C2HsNHC2H4NH; 114.2
130.|= 2 fr CoH5COC:Hs 200{705
131.[#8F = " i 2 fig CeHs(COCeH5)2 5
132.|= %= & 7 = CF2Br 100|858
133. |55k 4 o f OCH2CHCH20CH.CHCH:0 0.1]0. 53
134.|= %~ B (C4Hg)2CO 25145
135.|= & p = [ (CHs)2CH]NH 5|21
136.IN,N—= ® Ao i CH;CON(CHs) 10(36
137.|= @ = (CHs)oNH 10{18
138.IN,N—= = L ¥z CeHsN(CHs )+ 5|25
139.|= # (CHs)2P04CH=CC1, 0.1]1
140.N,N—= @ A @ fase HCON(CHs)2 10{30
141. |4 % = 7 &= ? fig Cell4(COOCHs)2 5}
142, |Frpa= P fig (CH3)2S04 0. 1]0. 52
143. - W A ¥ (7 2 H4) CeHs(NO2)» 0. 15|1
144, |= B 75 — 38— 9 A CHsCeH2(NO2)20H 0.2
145. |z @ ¥ CeH3CHs (NO2)2 1.5
146, %8 — % = 7 B = % /iy CeH4(COOCsH;7)2 5
147.1,4—= % £ & (CeHe):20, 25(90
148. = s> C4Hg02[ SPSC(OCzH5)2 ] 0.2
149.|= ¥= (CeHs)2NH 10
150.|= p = f% 7 fL CHs0CsHs0CsHsOH 100]606
151.|= [ Ak (CHsCH2CHz)2CO 50233
152.|= me> (CaHs0)2P(S)SCHyCH2SCHyCH 0.1
153.|= ¢ ' ¥ CsHs(CHCHy) 1053
154. % # % CoHsC1603S 0.1
155.|- & CeHsP (C2Hs0) (S)0C6HANO, 0.5
156. 1% % & 0 = OCH.CHCH:C1 2|7.6
157.11,2—% 3 p'= OCH.CHCH3 2048
158.12,3— % 3% [ % CH2OHCHCH-0 25|76
159. |2 pg = NH;CH2CH,0H 3|7.5
160.]€ 4> [ (CoH50)2P(S)S JoCHy 0.4
161. |2 = CoH5NHe 10{18
162.|¢ f& e fig CHsCOOC,Hs 400(1, 440
163. |7 ' & ¢ fig CH2=CHCOOC.Hs 25102
164.|2 p% CoHs0H 1,000{1, 880
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165.|¢ ~ Ak CHsCH>CH(CHs)CH2COCH»CHs 25131
166.[/%.2 = Coll5:Br 200(892
167.|¢ ~ @ CHs(CHz)3sCOCH2CHs 50234
168. |z pt (CoH5):20 400(1, 210
169. |2 = %5 (W e - i) NHzCH>CH2NH; 10(25
170.|= 8.2 = ColsBr 20(154
171,12 = p& (FiF) CH.OHCH-OH 10
172,12 = f(Z& 4 ) CH,OHCHOH o0(127
173.|% ¢ &%= H,CNHCH, 0.5[0. 88
174.]2 = f3 7 @ CH,OHCH20C4Hyg 25(121
175.]¢ = fg e @t CH>OHCH»0C-Hs 0|18
176.|2 = B ¢ BfS fk fin C2H50CH2CH2COOCH3 0|27
177. |z = pg " Bt CH2OHCH;0CHs 0|16
178.|¢ = p3 ¥ ﬁiﬁf;‘ A& fin CHsCOOCH.CH;0CH; 5|24
179. % 3% ¢ = C.H40 1.8
180. |7 p& ¢ fig HCOOC,Hs 100|303
181.|2 7% CoHsSH 10|25
182.N—2 & —1,4—3% § K& CHzCH,OCH.CH2NCH>CHs 0|24
183. % 2 » (CHs0)2P(S)0CsHsC13 10
184.|4~T; 48 £ & 1
185.4 it (1 4 3H) F 2.0
186. |4 Fy 1{1.6
187. |4 = % 7 = CCIsF 1, 0005, 620
188.]7 ppi= HCONH, 20|37
189. |7 p& HCOOH 59.4
190. [r%vm ® A5 C4Hs0CHO 2|7.9
191. [v%vm @ A% C4Hs0CH-OH 10(40
192, i 7 300({890
193. |2 & i* ﬁﬁ GeHly 0. 2]0. 63
194. |~ = g OHC(CHz)3CHO 0.2]0. 82
195. |3 % 10
196. |45 Hf 0.5
197, |4 iw £ CioH-C17 0.5
198.|* A& = CH;(CHz2)sCH; 400]1, 640
199.] &% 7 = % C1.CCCICCICCI2 0.02/0. 21
200.|> &% BN - 5 CsCls 0.01{0. 11
201.|~ % ¢ ’= C13CCCl3 109.7
202.|= % & CioHaCl 0.2
203.|- & 5 fir CF3COCF3 0. 1]0. 68
204. |- By Rk = OCN(CHz)eNCO 0.005/0. 034
205, | & = CH3(CH2)4CH; 50/176
206.|° = 2 4 CeHi4 500(1, 760
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207.|c B % = © fig CH3CO0CeH, 3 50[295
208.12— 7 K —2,4— "~ - % (CHs3)3COHCH. CHOHCHs; 25(121
209. %1 & HBr 39. 9
210.|% it & HCI 9|7. 5
211. B %= NHNH: 0.1]0.13
212.|§ it & HCN 10{11
213.|4 i+ & HF 3|2.6
214. %% ~ & 11,0, (1.4
215. |/ 14 & :Se 0. 05]0. 16
216. |/ it & S 10{14
217.|& pr CeHs(OH )2 2
218.[4FF H it & 5 (11 4FRY) In 0.1
219, |# I, 0.1]1
220. |1 B4 483) Fe(CO)s 0.1]0. 23
2213 4 CHEE) FeO, Fes04 10
222.|¢ B} g CHsCOO(CHz)2CH(CH3)- 100[532
223. |3 ~p (CHs)2CHCH2CH20H 100[361
224.|t B2 7 fn CHsCOOCH2CH2(CHs ) 150|713
2250.|1% 7 P& (CHs)2CHCH,0H 050|152
226.|% * f% C7H:5CH:0H 50266
227.| % @ F fr CoH140 0|28
228. |- R ¥ EAR A e CioH1s(NCO)2 0.005/0. 045
229.2— % p 3 AL (CHs)2CHOCH: CH,0H 25106
230,z LR P fq CH;COOCH(CHs )2 250(1, 040
231.|& p = (CHs)2CHNH;, |12
232. 12 P % (CHs).CHOH 400(983
233. |3 p F = CsHsNHCH(CHs)2 2|11
234. |3 P R (CHs)3CHOCH(CHs)» 250[1, 040
235. | R 0 AdEkH B EL CH(CHs)20CH2CHCH:0 50]238
236. |2 f fr H,C=C=0 0. 5/0. 86
237. |F* ik &y Pbs(As04)2 0.15
238. |sepady (483 ) PbCr0y4 0.05
239. | & 0.2
240. ;& i* £ 5 LPG CnHznio(n=2~4) 1, 000{1, 800
241.|% i 42 LiH 0.025
242,13 1“4 (T) Mg0 10
243.15 > C1oH1906PS: 10
244, "8 — 7 %k = (CHCO):20 0. 25(1
245. & 0 B (4E3H) Mn 1
246. 4% H 21 5 (D) Mn 5
247, | = 25 3K N JAE (R ) CsHMn(CO)s 0.1
248. 1% 2 P A e (CHs)2C=CHCOCHs 15(60
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249.|7 A B i CH>=C(CH3)COOH 20[70
250.|4— " § ¥ CH30CsH:0H 5
251.|2 F " By CH;COOCH; 200606
252. [ CH:C=CH 1, 000]1, 640
253. |7 F T By CH>=CHCOOCHS; 10[35
254.|" AP YR CH=C(CHs)CN 1)2.7
255.|= 7 § 7 % CH;0CH,0CH; 1,000[3, 110
256.|7 fi% CH;0H 200/262
257.|7 »= CH3NH; 10[13
258.7 A &k CH;(CHz)4COCHs 50/233
259.N— 7 ¥ CoHlsNHCH; 0.52.2
260.[;8.7 = CH3Br 519
261.]7 A~ A CH3COC4H 520
262.|% 7 = CHyC1 50[103
263.12—F AP R B CH>=C(CN)COOCH; 209.1
264.|7 Ak =z CHsColl11 400|1, 610
265.7 Tk fF CHCsHi00H 50(234
266.7 ke m CH3C5HsCO 50/229
267.|" Egﬁw» -z B A (4E)  |[CHCHMN(CO)s 0.2
268.13,3 -= 4 4 = vegl ¥ 17 2 CugliaCloNs 0.02/0. 218
269. |4, 4-= ?1 FR-¥" % OCNCsH,CHCsHNCO 0. 02[0. 2
270.|~ p# CH;COCH; 2001590
AN EREE CsHi604 0.2(1.5
272.17 B By HCOOCH; 100[246
273.|7 Ampz CH3NHNH; 0.20.38
274. 7 7 = CH;1 2(12
275.|7 A B A CH;COCzH,CH(CH3): 50234
276.[4—7 &£ —2— X @ (CHs)2CHCH-CH(CHs)OH 25/104
217.|° A% - CH;COCH(CHs): 50205
278.|2 ¥ f&° By CH:NCO 0. 02/0. 05
279.|7 A B A CH;COCH(CH;): 200705
280.| 7 Fipk H;CSH 10[20
281.|7 AP R B CsH5CO0CH; 100[410
282.|7 A= b (CH50)5P(S)0CsHNO: 0.2
283.17 [ fit CH;(CHz)2COCHs 200705
284.|7 A%z 7A@ (CHs)sCOCHs 40144
285.|a-" A ¥ % ColsC(CHs)=CH, 50(242
286.|2 * 7 3
287.140 0 A p It £ (0 dpH) Mo 5
288. |v5 v CaHsONH 20(71
289.| 7 b # (%) Clls~CsHio 100[400
290.|% Cios 10[52
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291,145 > w3 i &9 (11443) Ni 0.1
292, |m i 44 Ni(CO)4 0.001/0. 007
293. |74k (R w7 CsH4NC4H/NCH;5 0.5
294. | e HNOs 2|5. 2
295.- % * % NO 25|31
296. ¥ A AL F = NO2CeHsNH; 3
29T |# AL ¥ CeH5NO: 1|5
298. % —A A % F Cell4,C1(NO3) 1
299. |/ 2 = CHsCH:NO; 100(307
300.|= % v % NO2 & NoOs 9|9
301.|= &% i+ % NF3 10]29
302. |F i o jd CsHs(ONO9 )3 0.2(2
303. |# A e - B% (CH20NO2) 0.02]0. 12
304. |# 7 4= CHsNO; 100|250
305. |[1-#'p = CH3CH2CHaNO, 25|91
306. |2-#' 5 = CHsCHNO,CHs 10(36
07|/ AL 8 F NO2CeH4CHs 2|11
308.|- ¥ i* = % N20 50(90
309. | T =(z £ #+) CoHao 200(1, 050
310.|~ % & CioCls 0.1
311.|% = CgHis 300(1, 400
312, 5 (ot L) 5
313.|m F it 4% (4Kt 0504 0.0002(0. 0016
314. | ¥ s (COOH)2. 2H20 1
315.|4 i* % OF; 0.05(0. 11
316.|5- % 03 0.1]0. 2
IT. |7 > &% 2
318,17 £ CioHiaNoCls or CizHisN2(CHsS04)2 0.1
319.1% £ (CoH50)2PSOCsH4NO 0.1
320. |1 Pz BsHy 0.005(0.013
321.|7 % & C1oHsCl5 0.5
322.|7 4% A4 A CeC150H 0.5
323.| N = CH;(CHz)sCH; 600(1, 770
324. |18 % 7 AEpe CISCCls 0.1]0. 76
325. |18 & pa & CIFOs 3|13
326. |f» CeH0H 519
327. |4 &v5 Ci2HoNS 5
328. | —F = = CeHls(NHz)2 0.1
329. Jfﬁf'»’ ,gffl‘7 (Cel5)20 1|7
330. | F A% ko i pt CeH50CH2CHCH20 116.1
331 | ¥ CeHsNHNH, 5|22
332.| ¥ A fi% CeHsSH 0.5[2.3
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333.| ¥ % CsH5PH: 0. 05(0. 23
334. A5 7 > (CoH50)2P(S)SCH2SCoHs 0.05
335.|% ~ (CH30)2P(0)0C(CHs)=CHCOOCH3 0.01{0.092
336. % # COCl, 0.10.4
337. |k & PHs 0.30. 4
338. |k H3PO,4 1
339. | & p 0.1
340. |3 & “ &% POC1s 0.1]0.63
341.|17 & & PCls 1
342.|7 & i i PSs 1
343.|= & 1 & PCl3 0.2|1.1
344, |8 F = 7 fF CsH4(C0):20 116. 1
345. | ¥ F CeH4(CN)2 5
346. | = vk ik CeH2(OH) (NO2 )3 0.1
347.|1,4-= § The 'z- AR R C4HioNz - 2HC1 5
348. |40 £ (1 4a3t) Pt 1
349. |40 > 7R EEE (114at Pt 0.002
350.|% # = F CioH10-0Cly (1=n=10) 0.01
351. | = CHsCHCHs 1,000(1, 800
352.|[ & CHsCH,COOH 10{30
393.|1—p p% CHsCH,CH20H 200/491
3504. |1 ke fig CHsCOO0CsH; 200|835
355. |# FA B fi CsH7NOs 25107
356. |3 = %= A Ly NOsCH>CHNO3CHs 0. 05(0. 34
357.|p = f% P A CH30CH;CHOHCH; 100{369
358. |7 M I M= CHsHCNHCH, 214.7
359. "% &5 5
360. | CoH:N 516
361. |2 CeH402 0.1]0. 44
2. |FF - (FHF) CeHa(OH)o 10{45
363. ;‘Ej&(."l ) EBEET 2 2R 8 Rh 01
#
364. |4 (g )V R E Rh 0.01
365. | & %4 Ca23H2206 )
366. |fm it &4 (1wt Se 0.2
367, & “ fo SeFs 0. 05(0. 16
368. |z & * @ SiHy 5(6. 6
369. f)’ £/ NE TR EF (JléQAg 0. 01
370. [ & 1 4p NaNs 0.11}0. 29
371, | & Fe s 3 4 NaHSO0; 5
372.|4 © padp FCH.COONa 0.05
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373.|3 5 i 4 NaOH 2
374.|% i 4% SbH; 0.1]0. 51
375, |27 % 44 % A 100/525
376.|= & iz SO, 2(5. 2
377.|= & it SFg 1, 0005, 970
378.|- # i* & S:Cl 2 115.5
379. [en H;S04 1
380. |7 & & SaF 10 0.01}0.1
381. |z & it Fx SF4 0.10.44
382.|4% 1 Fmifig SO:F, 0|21
38357 (7 3 FapsRa) Mgs[ Si4010] (OH): 9
38414 - B2 F BB Ta 5
385. |Fp 2 H v & (1A Te 0.1
386. | HEH (CaH50)4P207 0.004(0. 047
38T. |8 = ¥ (CsHs)2CeHy 0.53/5
388.|1,1,1,2—w % —2,2—= & ¢ %= |CCI1sCCIF, 500(4, 170
389.1,1,2,2—2 % —1,2—= & ¢ %% |CC1.FCCLF 500(4, 170
390.11,1,2,2—m» % ¢ ’= CHC1,CHCI» 116.9
391.|= % ? CioH-C1 2
392. = v A 4x Pb(Caols) 4 0.075
393. = ¥ Ahs (st Pb(CHs)4 0.075
394. |2 & rvm (CH2)40 2001590
395. [ 7 A 7hIq NCC(CHs)2C(CHs)2CN 0. 528
396. |z & ¥ U= C(NO2)4 118
397. | E g faw 4 NasP207 5
398. |z Frpgpk HSCH,COOH 113.8
399.|% T e SOCI; 114. 9
400. |7 & 3= [ (CH3)2NCS ]5S, 5
401,147 2 47 g 5 1 & F (I 4F3) Sn 2
402,187 3 10 & (g7 3) Sn 0.1
403. % “ 4 E) Sn 2
404, (= 3 i 4% T10. 10
405, (A48 — 7 F % CHsCsH4NH; 0|22
406, | — 7 F i CHsCsH4NH; 2|8. 8
407, [ — 7 F = CHsCsH4NH; 2|8. 8
40812 4= = FH T H 2072 24 o cm(NC0), 0. 0050. 036
e ® %
409. % B CioH1oClg 0.5
410. @iﬁﬁi B (C4Hg) 3P0y 0.2|2.2
411.|= % & & CC15CO0H 116. 7
412.11,2,4—= % ¥ CeHsCl 3 0|37
413.11,1,1—= % ¢ = CHsCCl3 350(1, 910
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414.11,1,2—= % ¢ ’= CI.CHCH,C1 10{55
41512 % & CioH5Cl 3 5
416.(1,2,3—= % p = CICH,CHC1CH.CI 50302
A17.01,1,2—= % —1,2,2—= 4 ¢ %= |CC1.,FCCIF, 1,000{7, 670
418.|= ¢ % (CoHs)sN 1041
419.|= & 5.7 'z CBrFs 1, 000(6, 090
420.|1, 2, 4— % ¥ = pap* CoH405 0. 005{0. 04
421.|= @ = (CH3)sN 10(24
422. 1= 7 ¥ (CHs)sCeHs 25(123
423. | T L = 7 fin (CH50)3P 2/10
424,12, 4, 6—= W A 7 ¥ CHsCsHz2(NO2)3 0.5
425. |2 M7 F ALEEpL fin Ca1H2104P 0.1
426.|= F Az (CeHs)sN 5)
A27. |Rkpa = F fin (CeHs )3P0y 3
428.|45 - it £ 8 (453) W 3)
429.145 > VN & (U4h3) W 1
430, [~ & d CioHie 100|556
431,60 - 7t £ (g3h) U 0.2
432,140 > 2L & (ght) U 0.2
433. |~ g CH;(CH2)sCHO o0(176
434,17 5 i = g B V205 0.5
435.|7 3 it - 4T V205 0.1
436. B fs & F fin CHsCOOCH=CH> 10]35
437|752 % CHo=CHBr 0|22
438.|= % it Tk LR CH2CHOC;Hq0 1057
439.|c H AT F CH2=CHCsH4CHs 100|482
440, [P & & CioH1604 0.1
441. |~ # 5
442|127 F = (CHs)2CeHsNH2 2|10
443. 40 > £HE B - &5 (4e3t) Y 1
444, | % - & > (EE) ZnCls 1
445, g ek (gL PRt ZnCr04 0.05
446.|% -4 (HT) Zn0

447 |81 £ (11EE3) Ir
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